10| aps
@b/}/? ' JIZW% 20224 11 B0 B B %88 B8 kot : T8 2% T0E

YA

Criv i 4ol 48 ) S DAL 63 i e 554 B e il

B %5 :BG210701

T B &R A% 1 25 &

B 1Tl HrRE IR

BB @& T H A E R SRR
lk, B H AR e i shii43h 1
BRGS0 @K, A
BAEAL R R

I B B A : 5000 )7

MBHEEE . 5784, fHE 5000

TEZIEEHE:0.54F

I H AT :200—250 A

MBIl ETHEEER 78S
e LR T e AT

T B & E sk Bt e, BHE R e
VBRI

M E%S : TD210601

I B &R SRRk it AR P i H

P47 Frig i

I B f8 97 : 30 H o5 2SO EU%
e AL R G R AH K FARTIF % S5k
5% VTR Wik 5w HaR, o
A H EREFRU LR Lt %
BALAAZ O S5 R R CLFRXUARAR | B
e By ERERG IR
JRBFH R, ARAR S5 NS  FT AR RETR

& W EEERE 2 LR AR T 5.
MBHEEFE: 3,300 5
MEZIZE#S: 121 H
TiH 2R 151250
T Hik ==& : 30147C
AR 31200
T B & E K U 3R
MEZEEE 500 JI oo/

T H R 58 B £ 100 J7 0/ mT

I B 45 : CF220602

I B &R : KRS &A™

FrE ATl HrRE IR

T B & 47 - 300 H 5 T AR BH fg
R & BT AT e AR
ARG 5 H AT, 5 2 REHR
GRS VE. BB, TRREI/NE N (B
), SAZIRAGE A

MBHEEEE:] S, 3000—10000

mMB#EEZEA#:31H

I B 23 EE: 3000—6000 Ji It

W EIAF=F=E: 11¢—2145¢

I BiEF= R : 500 T 7T

ME MBI :30—50 A

I B F b ok - A K HAE e Ha
5, BUF T LI

T B #2458 B : 200 Ji 70/ /T

T B B8 B - 33 JT U0/ H

B4R S : CF220702

B &R AR AR R LB R
EER%F:DDIﬁE

FRB4T M FraeiE

T B @9 0 H 7 T T A
FE L1 BT & I B A R 0L AR
FE B & L R AR s A SR
PRI T R I E T T A -

MBEHEEZE. ] b, 1000

mE=ZIZE: 121 H

TH 2EE: 312t

A F=F={E: 15127C

I BE PR 0.712—1125E

R RAI: 1000 A

T H sk po I A S R R
WORSZHE

T B 32 % 58 B : 300 Ji 0/

51 B R o8 B - 70 T—100 1 T/RY

ME %S :TD211102

1B &% : IR &

FREAT Al : VT REM R

I B @Ay AR KA, B
AT BT, B 45 Fh T B 15 K AL £
b AR L B, R T SR AR R R
Z EREH A, AINEIL ).

IH 2R 1.812T

MEHEEE: 1,605

TEZEIZEE 01 H

ik F=r=&: 2127t

I Bk F=Hil: 1200 56

WEATI:100 A

TR S E ok : R b o2, Bt
B IRMREURIE

I B 32 %58 B : 300 Jioo/Hi

T B B 58 B - 20 J7I0/H

I H %S : CF220504

B &R i e A e iEH 4

BRBAT Ml : TTREI

B @ B R E AL, I
TNEI BRI & IR A
I:!i&k*&%ﬁ”ﬁmﬂ 55y, SRR i%"

V5 Y ARG ﬁiﬁm

I B #H4R T = 1 4000—5000 F 75K
I )%ﬂls%ﬂfﬁ 122K, 104724

mMB&&ZE# 0 H

I B B3 E: 8000 7T

I Bk = F={&:6000 J7 70

I BiEF=H U : 600 J5 7T

WMEAE ETHREEER REE
HRPE Fe AR

TBEMER: ) ol 8oeflE
iR BUGRIE

I B3 %58 B : 350 Ji oo/ /i

T H R o8 B - 30 Ji 0/

I B Xt B 2k : 13661011459 X1l & 4

B %S :TD210513

I B &% Hik {}?gi&%{miﬁﬂd

FTEAT Ak 2 g

T HE &4 : IﬁE%ﬁJ‘zE,T;@ﬁFE
HRelRA 4 (Ll gh R &30 )1 SRRk
10000 FHAERRE IRAIT 42 5000 § A0 A 77
feJy, FE A dg 4.2— 18*%&&5’1‘1&
300 2B 4SRRI RE A 35 AT ik
rf?\zblw\&i\ﬁﬂii\%mi

EZ L) i
MEHFEEE: 1, 15005
H 2R 1911128
X F=F={&: 7017t
A=l 812 ot
I B K UMY Sk
M ERRRE 127 o0/
I B # R B - 53.3 J1 U0/

W E%S : TD210602

I B 2R S ri

P47 Frig i

BT E%Jfﬁ%%mﬁﬁiﬁé&
KGR AR B ARIET AR FESE
FElc VIR A TR S 2 IR LU
TLLE T B S AR
B Pidg RS BUERS AR

NG RPAL: R ST N e
MBHAEEFE: 3,300
TIESBAH: 1501270, BAER

4301258
I ik ==& :210127C
I BiE PRl : 201270
T B & E K UMY 3k
I B & 58 : 5000 J7 JC/BT
T H R o8 B 1 666.7 Ji I/ BT

I H %S : TD220701

T H &R : 94 it v H

FrE1T Al : BrAE IR

T B & A : AR 300 H LU ES Ttk
Kt Jg 18], A R PR RE 10GWH HY)
RIEFE b AR H T, S4Bk P 3
HERNHL L BB BE LB S Lt BB R DB ER
I S5 0 2 AL TR Sh iR D T R R S8
;&

T B B3 E A 462t (G =)

MEHEEE: +H1,500 W

T H =g 54

k==& 721250

B &=l 2120

IE A I 3000 A

MEEER: L E Bl
BB SR

I B AR E 1920 T I0/H

I B %6 58 BE - 40 JT 0/ B

H4%S : TD211003

T B &R : ROk e 15 H

FrEfTl: 1y ﬁ%ﬂ 7~

1B @ R S AR, A
IREEWEIPEAY IR ) IR (R TR
BHIGW BTIGE LRGSR S
KA S5 AR SR IR R
RIS AR 2 AT ST LA I

MH S E 8125t

MBHEEFEE: 1,300

TEZEIZE#: 12 H

T REF=F=E:101¢7T

IR B F= #6000 J7 T

B AT 500 A

T B sk - LB G, IR0
Bk

T B R AR B 1 266.7 JiJC/HT

T H B UsoR B - 20 T3 0/HT

B 45 : TD211208

T H &R K R g A = H

BB ATl 1TREFR (R

T3 B 897 : B AR, Wbt K
WiE IR, AtiEddest.

TiH 23 &E: 2120t

TE#HEEE: L, 50

TE#EEZEA#S 01 H

W EIAF~=F=#:1.51Z7T

I BiEF=HBE : 1500 J7 7T

WEAI:100 A

B S E sk b3 Bl ik
B WEREYIF 151400

I B % % 58 : 400 J3 70/ W

T B B8 B - 30 T3 ow/

B %S : TD220503
T B & #R : % 24 4 F PR

I H

FrE ATl TREFR (R

DB @& 0 H 7 EENFERE S
S FRPEHRRE S PR AR R

filt IR BT S d il , A2l

T T ARSI R AR A e 1

N LA PRI RS B B i 5
B HAEEE 3000 Tk ek

b, 15 B T

TE&IEZEH 81 H

I B B33 E : 5000 7T

I B F=F={E : 5000 JT 7T

I Bk =8I : 500 J1 T

MBI ETHEREEER: EIHS
fif 2B AT X TR

B &R K JpERIT

T B % %58 & 1 350 Ji J0/RT

T B & B - 35 Tion/mi

B 48 : liuze @ zqcn.com.cn




